

			Vendor	Ranking			Page 1 of 1
Letting:	01221201	December 01, 2022 11:00 AM	Call Order	: 006	Contract:	E1V93-R0	
District:	District 1		Counties:	DIST/ST-WIDE, POLK	Fed Aid No	: N/A	
Contract Time:	365 CALEN	DAR DAYS			Project(s):	43272727254 (*)
Contract Docor	Doodoido M	owing Chamical Mowing and	Litter Domo	(al (Cauth)			

Contract Desc: Roadside Mowing, Chemical Mowing, and Litter Removal (South)

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TGA EQUIPMENT INC	Responsive	Winning bid	\$484,101.96	100.00%
2	PRO LAWNS CARE	Non-Responsive	Non-Winning Bid	\$495,942.62	102.45%
3	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$636,636.21	131.51%
4	JSM SERVICES, INC.	Responsive	Non-Winning Bid	\$667,259.44	137.83%
5	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$943,446.63	194.89%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Page 1 of 3

Letting:	01221201	December 01, 2022	Call Order:	006	Contract: E1V93-R0
District:	District 1		Counties:	DIST/ST-WIDE, POLK	Fed Aid No: N/A
Contract Time:	365 CALEND	OAR DAYS			Project(s): 43272727254 (*)

Contract Descr: Roadside Mowing, Chemical Mowing, and Litter Removal (South)

The work under this Contract consists of Roadside Mowing, Chemical Mowing, and Litter Removal (South).

Line No / Item ID Item Description	Alternate	Quantity Units	(1) TGA EQUI	PMENT INC	(2) PRO LAV	VNS CARE		LANDSCAPING WN SE
() indicates item is b	oid as Lump Sum	•	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001 (LARGE MACH	INE MOWING (AC					
0005 E107 2 1 MOWING (LARGE M	ACHINE)	10,821.555 AC	20.00000	216,431.10	18.25000	197,493.38	29.00000	313,825.10
0010 E107 2 2 MOWING (SLOPE)		880.000 AC	75.00000	66,000.00	84.50000	74,360.00	88.00000	77,440.00
0015 E107 2 3 MOWING (INTERME	DIATE MACHINE	220.253) AC	75.00000	16,518.98	63.50000	13,986.07	66.00000	14,536.70
0020 E110 30 LITTER REMOVAL		15,629.016 AC	8.00000	125,032.13	7.25000	113,310.37	12.00000	187,548.19
0025 E580337 8 HERBICIDE (MOWEI	R APPLICATION)	2,404.790 AC	25.00000	60,119.75	40.25000	96,792.80	18.00000	43,286.22
	E MACHINE Sec OWING (AC)	ction Totals:		\$484,101.96		\$495,942.62		\$636,636.21

	Contract Grand Totals:	\$484,101.96	\$495,942.62	636,636.21
--	------------------------	--------------	--------------	------------



Tabulation of Bids

Page 2 of 3

Letting: 01221201	December 01, 2	2022 Cal	I Order: 006		Contract:	E1V93-R0	
Line No / Item ID Alternation	ate Quantity Units	(4) JSM SER	VICES, INC.	(5) T & M LA SERVIC			
() indicates item is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(LARGE MACH	INE MOWING (AC	;				
0005 E107 2 1 MOWING (LARGE MACHINE)	10,821.555 AC	19.00000	205,609.55	20.00000	216,431.10		
0010 E107 2 2 MOWING (SLOPE)	880.000 AC	125.00000	110,000.00	200.00000	176,000.00		
0015 E107 2 3 MOWING (INTERMEDIATE MACH	220.253 IINE) AC	90.00000	19,822.77	100.00000	22,025.30		
0020 E110 30 LITTER REMOVAL	15,629.016 AC	16.00000	250,064.26	30.00000	468,870.48		
0025 E580337 8 HERBICIDE (MOWER APPLICATIO	2,404.790 ON) AC	34.00000	81,762.86	25.00000	60,119.75		
0001 LARGE MACHINE MOWING (AC)			\$667,259.44		\$943,446.63		

Contract Grand Totals:

\$667,259.44

\$943,446.63



Tabulation of Bids

Page 3 of 3

Letting:	01221201	December 01, 2022	Call Order: 006	Contract:	E1V93-R0
		120.57(3), Florida required by law w	file a protest within the time pres Statutes, or failure to post the b ithin the time allowed for filing a l edings under chapter 120, Florida	ond or other security bond shall constitute	